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Determine whether each matrix product is defined. If so, state the dimensions of Ll—s . %
the product. 15. undefined

13. Ay "By 4X 2 14X, 0 Yy 2X 2 150 Py oy Qg

16. R,y S5 1X5 17 My, 5 Ny 5 18. Ay By 5 3X5
undefined

Find each product, if possible.
19. [2 —1]- EJ [6] 20.
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4 -1 6] [1 3 .
21. L 5 _SJ-L) _6J not possible 22.
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7 3 2 14
2. E ‘}J[g —2 :ﬂ 24, {0 2][ 3 -5 2] not possible
55 4 31
1 -25 2
40 24 16 0 8 23.[ ]
25 [—3 7} {_g ﬂ {—32 —5} 26 { 3 1]~B é _éJ 20 1 =30
-5 9 —48 11 -1 5 0 64 —a0
26. 9 11 -11
-3 39 -23
Solve each equation. (Lesson 4-1) -7
3x+2] 23 x+3y]_[-22 el D
s0. | 15]’[74;/71] 51 [2_\'—;/]*[ ) 52 [72"“/72 | 2

5y — 7z
(7, -4 (5, -9) (2, -5, -7)
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